
Excerpts From Advanced Puzzles 

Chapter 1 
Mates in Three  

 

 
Puzzle #7 

Mate in 3, white to play 

 

 

 
Puzzle #8 

Mate in 3, white to play 

 

 



 

 

Answer to Puzzle #7 
 

1. Rf6+ Kd7 

2. Rf7+ Kd8 (if 2…Kc6 or Kc8, then 3. Qc7++) 

3. Qxh8++  

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

Answer to Puzzle #8 

 
1. Nb5+ Nxb5 

2. axb5  b6 (if 2…any other move, then 3. Rxh5++) 

3. Qc7++ 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

 

 

 

 

 



Chapter 2 
Mates in Four  

 

 
Puzzle #19 

Mate in 4, black to play 

 

 

 
Puzzle #20 

Mate in 4, black to play 

 

 

 

 



 

 

 

 

Answer to Puzzle #19 
 

1…….Ba4+ 

2. Ke1 Qc1+ 

3. Ke2 Bd1+ 

4. Kf1 Bf3++ 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

Answer to Puzzle #20 

 
1……..Bf2+ 

2. Kd2 Qh6+ (If 2. Ke2, then Nd4+, 3. Kd2, Qh6++) 

3. Ke2 Nd4+ 

4. Kf1 Qh3++ 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

 



Chapter 3 
Mates in Five  

 

 
Puzzle #31 

Mate in 5, black to play 

 

 

 
Puzzle #32 

Mate in 5, white to play 

 

 

 

 



 

Answer to Puzzle #31 
 

1…….Rxc2+ 

2. Kb1 Rxb2+ 

3. Ka1 Rxa2+ 

4. Kxa2 Bb4+ 

5. Kb2 Qa3++ 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

Answer to Puzzle #32 

 
1. Qxf8+ Kxf8 

2. fxe5+ Ke7 

3. Rf7+ Kd8 

4. Ra8+ Rb8 

5. Rxb8++ 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

 

 

 



Chapter 4 
Find the Best Move  

 

 
Puzzle #49 

Find the best move, white to play 

 

 

 
Puzzle #50 

Find the best move, white to play 

 

 

 

 



 

Answer to Puzzle #49 
 

1. Rad1 Rd3 

2. Rxd3 Qxd3 

3. Rd1 wins the queen for the rook (if 3...Qxc2, then 4. Rd8++) 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 

 

 

 

 

 

Answer to Puzzle #50 

 
1. Be4  

(If 1...Bxe4, then Qxf7+ 2. Kh8 Qxe8+ 3. Bf8 Qxf8++) 

Or (If 1...Bd7, then Qxf7+ 2. Kh8, Qxd7) 

 

 

____ Correct 2 points ____ Incorrect 0 points 

 

 

 
 


